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5.1 PROBLEM SET
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i the indefinite integral in Problems 1-30.
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he slope F'(x) at each point on a graph is given in Problems 31-38

8 with one point (xy, ys) on the graph. Use this information to

d F both graphically and analytically.

F'(x) = x? 4 3x
with point (0, 0)

32 Fi(x) = 2x - 1)?
with point (1,3)
. e

Q 3.

33, F/(x) = (yx+3)
with point (4,36)

M. F'(x)=3~2sinx
with point (0, 0)
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35. slope X 5 36. slope
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with point (4, 1)

with point (1, -2)
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with point (0, 0)

37. slope x + e~
with point (0,2)
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It F(x):J(——4 dx, find F so that F(1)=0.
vx
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Sketch the graphs of y = F(x), y = F(x) + 3, and
yv=F(x)-1

¢. Find a constant C, so that the largest value of
G(x)= F(x)+Cy is 0.

40. A ball is thrown directly upward from ground level with an
initial velocity of 96 ft/s. Assuming that the ball’s only accel-
eration is that due to gravity (that is, a(s) = =32 fi/s°), deter-
mine the maximum height reached by the ball and the time
it takes to return to ground level.

41. The marginal cost of a certain commodity is
C'(x) = 6x> —2x+5, where x is the level of production. If it
costs 35 to produce ! unit, what is the total cost of producing
5 units?
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